GO02 = Circular Interpolation (Clockwise)
GO03 = Circular Interpolation (Counterclockwise)

Information required:
1. End point of Arc: Xand Y (or Z) coordinates

2. Center point of Arc: | and J (or K) values
Or: Radius of Arc

3. Feed Rate: F address

Example A The Radius of the Arc in Example A
GO2X__Y__ 10.0 J(-) F100; is equal to the J value, since the value
— — > oflis zero.
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Example B Radius A€
GO2X__Y__ 1 J(-) F100; Y,
Tool | Value
Feed / I-Value is tge Distance
> of the Arc Center in The
X Direction from the Tool
End Point J-Value is the Distance of
The Arc Center in the Y
J Value Radius / Direction from the Tool
X_Y_ The Sign (+ or -) of the
| or J Values Indicates the
Y Direction of the Arc
Center from the Tool.
| Value






